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 ��� �P−σ Q�Q

R � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � <�8��� ��C> M�Q

R � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ">	�S/  �T�
 R�Q

U � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ">	�S/ ���= > U�Q

V � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  ��
 ���= > Q�U�Q

W � � � � � � � � � � � � � � � � � � � � � � � � � � � � ,4:$�
 ���= > M�U�Q

X � � � � � � � � � � � � � � � � � � � � � � � � � � � � ,4:$�
  �3�+ R�U�Q

Y � � � � � � � � � � � � � � � � � � � $�Z+�� ������= > 
 2�#  ���> "&�8��� ��C> V�Q

Q[ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G\4/ (�
+ ]�Q

QQ � � � � � � � � � � � � � � � � � � � � � � � � � � � � ">	�S/ ����� @�	 AB	�%
 W�Q

QM � � � � � � � � � � � � � � � � � � � � � � � "%64
 �$�Z+�� I # Q�W�Q

QR � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ">	�S/ � �Z�<� ^��� X�Q

QV � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 4��� <4
 > Y�Q

Q] � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2�#�< ��: _�) ������= > Q[�Q

QW � � � � � � � � � � � � � � � � � � � "'` AB	�%
 2�^��	 �� �$� a/ ����0
$ QQ�Q

�=



QW � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�4:�F 0
$ Q�QQ�Q

QY � � � � � � � � � � � � � � � � � � � � � � � � � � <���� b
�Z 0
$ M�QQ�Q

MQ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �	�S�\� 7���@
 
 G�$�%/ QM�Q

MQ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���� ��� Q�QM�Q

MQ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���4�'
 M�QM�Q

MM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���4�'
 5��/ R�QM�Q

MM � � � � � � � � � � � � � � ;�&4� K�� c�'
 9� Z�;��$ ���4�'
 5��/ U�QM�Q

MM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �6 \ d�$
� V�QM�Q

MR � � � � � � � � � � � � � � � � � � � � � � � � � � � � "a��$ ���
 � ]�QM�Q

MR � � � � � � � � � � � � � � � � � � � � � � � � � � � � "&�
 *�
�/ 	4` W�QM�Q

MR � � � � � � � � � � � � � � � � � � � � � � � � � � � "6� .��� 0
 > X�QM�Q

EJ ��# $ %�&�� E

M] � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
�.
 Q�M

MW � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "%'\ ����� < ��: M�M

MW � � � � � � � � � � � � � � � � � � � � � � � *�Z�� ���) 78�9:�
 �1� Q�M�M

MY � � � � � � � � � � � � � � � � � � � � � � � � � � ��4) �9�$��
�� � �1� M�M�M

RM � � � � � � � � � � � � � � � � � � � � � � � ��4) �9�$��
�� � 
 ">	�S/ ����� < ��: R�M

RR � � � � � � � � � � � � "����
 "��
+ c>� �� ">	�S/ ����� < ��: �&��
 Q�R�M

R] � � � � � � � � � � � "����
��E"��
+ c>� �� ">	�S/ ����� < ��: �&��
 M�R�M

CD ����!" %�&�� '(�)� +
�$ +��, ���
 C

U[ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
�.
 Q�R

UR � � � � � � � � � � � � � � � � � � � � � � � � � ���9� 5��/ �� � "�eZ+�� AB	�%
 M�R

UR � � � � � � � � � � � � 2�# 2	�	 �!483
 ;� +� f
 ` *�&
� $	 G\4/ Q�M�R
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UU � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ����� G\4/ �L��
 R�R

U] � � � � � � � � � � � � � � � � � � � � � � ����� G\4/ ����
 �� � "�eZ+�� �&	�%
 U�R

UW � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "^���� �1� V�R

V[ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ����� < ��: ]�R

VM � � � � � � � � � � � � � � � � � � � � � � � � � � � � ����� G\4/ 
 < ��: ����
 W�R

VM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "����
 (�
+ ����
 X�R

VR � � � � � � � � ����� < ��: ����
 +� *8��E"�4:�FE"�4���8� �&	�%
 (	$
= ��	��� Y�R

V] � � � � � � � � � � � � � � � ,4:$�
  �3�+ �� ">	�S/ ����� < ��: ����
 -� ./ Q[�R

VX � � � � � � � � � � � � � � � � (�
+ ����Z ,4:$�
  �3�+ ?(�
+ ���4�) "����(
$	 QQ�R

"����(
$	 ����2+�� 
 <�.��� AB�8��� �����
 �� � "����
 AN6�@/ A��� ./ 0
$ QM�R

][ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ,4:$�
  �3�+

]M � � � � � � � � � � � � "����(
$	 ����2+�� 
 <�.��� AB�8��� �+���2	�� Q�QM�R

]R � � � � � � � � � � � � � � � � � � � � � � � � � � � � "& ��: H���$�
 M�QM�R

]U � � ph(x, x | α) �= � �� � "����(
$	 �2+�� 
 <�.��� <�8��� �+���<�
 � R�QM�R

]V � � � � � � � � � � � � � � � � � � � � � � � � � ��>���7�8%/ "����
 AN6�@/ 0
$ QR�R

]X � � � � � � � � � � � � � � � � � � "�� ./ ,4:$�
  �3�+ �� � "/�����
 ����0
$ QU�R

]Y � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � A��6 > Q�QU�R

]Y � � � � � � � � � � � � � � � � � � � � � ����� ��C> $	 -� ./ 0
$ M�QU�R

WQ � � � � � � � � � � � � � � � � � � � � � � � � � � � � 0+$� ��C> $	 -� ./ 0
$ QV�R

WQ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�4:�F $� a/ Q�QV�R

WM � � � � � � � � � � � � � � � � � � � � � � � � � � <����Eb
�Z 0
$ M�QV�R

WM � � � � � � � � � � � � � � � � � $���� : "��
+ ����2+�� �
$ ,4:$�
  �3�+ A��� ./ Q]�R

WR � � � � � � � � � � � � � � � � � � ,4:$�
  �3�+ �� -� ./ g� 1 0
$ Q�Q]�R

KK /� � �0� 1�2&	
 +
�$ +��, +�6�<�
 L

h



WX � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
�.
 Q�U

X[ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ����
 ���� <4
 > M�U

XM � � � � � � � � � � � � � � � � � � � � ,4:$�
 ��� �3�+ �� �4@/ ) ������ -� ./ R�U

XM � � � � � � � � � � � � � � � � � � � 2�# < ��: ,4:$�
  �3�+ �`�� Q�R�U

XR � � � � � � � � � � � � � � � � � � � � � � � "����
 AN6�@/ �� -� ./ M�R�U

XW � � � � � � � � � � ����� < ��: (	$
= ��	��� �� � ����� ��C> $	 -� ./ 0
$ U�U

MD +@����#0� J
Y[ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
�.
 Q�V

Y[ � � � � � � � � � � ����� �4@/ ) ������ �� ���4�'
 5��/ "6��$ ��
� (	 : 78�9:�
 M�V

DJ �)#8�	
 �$ ��
�� ���	��N
�

DM O�
��

A



����!" �)#�

YR � � � � � � � � � � � � � � � � � � � � � � � � � "a��$ �������
 � ������ $�	48� Q�V

YU � � � � � � � � � � � � � � � � � � � � � � � � (�
+ �� ���� ���4�'
 5��/ $�	48� M�V

YU � � � � � � � � � � � � � � � � � � � � � � (�
+ �� ���� $�iZ����
 � A
 j $�	48� R�V

k
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�"�,PQ
 +�6��,=5R� � �6��0�−σ BSB
�8� +� "��4/ �!483
 A$41 *�� $	 ��� �^�  l� $	 �$ 7�  � �e) $�� 
	 �a� ;� ��/ ) _��
+=

{HH,HT, TH, TT} ��48� ��C> "&�4�
 $��
	 A$41 �� �a� ��/ ) _��
+= +� *a8
 ����
�e�)

m�#���"
  �+ A$41 �� �: 	4#�"
 ��ae/

�Ω = {∅, {HH}, {HT}, {TH}, {TT}, {HH,HT}, ..., {HT, TH, TT},Ω}. nQEQo

"��4/ �!483
 +�  1��! �8� *�#4� 
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